Transportation Planning Board Modified Equity Emphasis Areas: Arlington County data by tract DRAFT - 2/8/2016

U.S. Census, American Community Survey, 2010 - 2014 5-Year Estimates Analysis by Transportation Planning Board staff The Transportation Planning Board's Equity Emphasis Areas identifies U.S. Census tracts with significant concentrations of low-income and/or minority populations throughouth the Washington region. To be identified as an Equity Emphasis Area, a tract must have a concentration of individuals identified as low-income more than one-and-a-half times the regional average (Criteria 1) or varying level of minority concentration depending on the degree of low-income concentration (Criteria 2). See methodology for detailed description.

Criteria 1 Scoring

RATIO OF CONCENTRATION (ROC or times the regional	INDEX SCORE
average)	Low-Income*
Between 1.5 and 3.0	4.5 to 9.0
Greater than 3.0	9.0
Index Score	4.5 to 9.0
☑ Equity Emphasis Area ☐ Not an Equity Emphasis Area	` '

Criteria 2 Scoring

RATIO OF	INDEX SCORE					
CONCENTRATION (ROC or times the regional average)	Low- Income*	African American	Asian	Hispanic or Latino		
Less than 1.0	0	0	0	0		
Between 1.0 and 1.49	1.0 to 1.49	U	U	U		
Between 1.5 and 3.0	See Criteria 1 (4.5 to 9.0)	1.5 to 3.0	1.5 to 3.0	1.5 to 3.0		
Greater than 3.0	See Criteria 1 (9.0)	3.0	3.0	3.0		
Total Index Score	Index scores are totaled (ranging from 0 to 10.49)					
□ No	☑ Equity Ent an Equity Em	•	, , ,	$Index \ge 4.00)$ $Index < 4.00)$		

^{*}Household income 1.5 times or below the federal poverty level.

		Low-Income	African American	Asian	Hispanic or Latino
Tract 1001	Tract Percent	4.8%	1.6%	8.9%	2.2%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.346	0.060	0.866	0.144
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1002	Tract Percent	2.2%	0.6%	5.2%	4.7%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.161	0.024	0.505	0.306
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1003	Tract Percent	1.9%	1.9%	4.3%	4.7%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.134	0.071	0.419	0.310
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1004	Tract Percent	3.4%	0.3%	3.1%	8.3%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.245	0.010	0.299	0.543
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
	T I D I	Low-Income	African American	Asian	Hispanic or Latino
Tract 1005	Tract Percent	5.6%	1.8%	4.0%	12.3%
Tract 1005	Regional Average	5.6% 13.8%	1.8% 26.2%	4.0% 10.3%	12.3% 15.2%
Tract 1005	Regional Average Ratio of Concentration	5.6%	1.8%	4.0%	12.3%
Tract 1005	Regional Average Ratio of Concentration (times Regional Average)	5.6% 13.8% 0.403	1.8% 26.2% 0.070	4.0% 10.3% 0.393	12.3% 15.2% 0.808
Tract 1005	Regional Average Ratio of Concentration (times Regional Average) Index Score	5.6% 13.8% 0.403	1.8% 26.2%	4.0% 10.3%	12.3% 15.2%
Tract 1005	Regional Average Ratio of Concentration (times Regional Average)	5.6% 13.8% 0.403	1.8% 26.2% 0.070	4.0% 10.3% 0.393	12.3% 15.2% 0.808
Tract 1005	Regional Average Ratio of Concentration (times Regional Average) Index Score	5.6% 13.8% 0.403 0.00	1.8% 26.2% 0.070 0.00	4.0% 10.3% 0.393 0.00	12.3% 15.2% 0.808
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	5.6% 13.8% 0.403 0.00 0.00	1.8% 26.2% 0.070 0.00	4.0% 10.3% 0.393 0.00	12.3% 15.2% 0.808 0.00
Tract 1005	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	5.6% 13.8% 0.403 0.00 0.00 Low-Income 7.9%	1.8% 26.2% 0.070 0.00 African American 7.7%	4.0% 10.3% 0.393 0.00 Asian 7.9%	12.3% 15.2% 0.808 0.00 Hispanic or Latino 14.5%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	5.6% 13.8% 0.403 0.00 0.00 Low-Income 7.9% 13.8%	1.8% 26.2% 0.070 0.00 African American 7.7% 26.2%	4.0% 10.3% 0.393 0.00 Asian 7.9% 10.3%	12.3% 15.2% 0.808 0.00 Hispanic or Latino 14.5% 15.2%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	5.6% 13.8% 0.403 0.00 0.00 Low-Income 7.9%	1.8% 26.2% 0.070 0.00 African American 7.7%	4.0% 10.3% 0.393 0.00 Asian 7.9%	12.3% 15.2% 0.808 0.00 Hispanic or Latino 14.5%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	5.6% 13.8% 0.403 0.00 0.00 Low-Income 7.9% 13.8% 0.575	1.8% 26.2% 0.070 0.00 African American 7.7% 26.2% 0.294	4.0% 10.3% 0.393 0.00 Asian 7.9% 10.3% 0.774	12.3% 15.2% 0.808 0.00 Hispanic or Latino 14.5% 15.2% 0.952
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	5.6% 13.8% 0.403 0.00 0.00 Low-Income 7.9% 13.8% 0.575 0.00	1.8% 26.2% 0.070 0.00 African American 7.7% 26.2%	4.0% 10.3% 0.393 0.00 Asian 7.9% 10.3%	12.3% 15.2% 0.808 0.00 Hispanic or Latino 14.5% 15.2%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	5.6% 13.8% 0.403 0.00 0.00 Low-Income 7.9% 13.8% 0.575	1.8% 26.2% 0.070 0.00 African American 7.7% 26.2% 0.294	4.0% 10.3% 0.393 0.00 Asian 7.9% 10.3% 0.774	12.3% 15.2% 0.808 0.00 Hispanic or Latino 14.5% 15.2% 0.952

		Low-Income	African American	Asian	Hispanic or Latino
Tract 1007	Tract Percent	5.5%	3.2%	8.2%	11.3%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.400	0.123	0.804	0.738
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			1
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1008	Tract Percent	13.7%	19.2%	6.5%	27.4%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.993	0.733	0.633	1.796
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	1.80
	Total Index:	1.80			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1009	Tract Percent	9.3%	3.4%	7.1%	14.0%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.677	0.128	0.690	0.921
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
T	Total December	Low-Income	African American	Asian	Hispanic or Latino
Tract 1010	Tract Percent	4.8%	4.6%	4.9%	4.7%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.348	0.176	0.481	0.307
	(times Regional Average)	0.00	0.00	0.00	0.00
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1011	Tract Percent	6.4%	0.2%	5.7%	6.1%
Hact TOTT	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.465	0.009	0.554	0.400
	(times Regional Average)	0.465	0.009	0.554	0.400
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00	0.00	0.00	0.00
	Total Index.	0.00		_	
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1012	Tract Percent	10.8%	3.8%	10.2%	18.6%
1.400 1012	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.784	0.146	0.998	1.218
	(times Regional Average)	0.764	0.140	0.550	1.210
	Index Score	0.00	0.00	0.00	0.00
			0.00	0.00	0.00
	Total Indev	0.00			
	Total Index:	0.00			

		Low-Income	African American	Asian	Hispanic or Latino
Tract 1016.01	Tract Percent	9.4%	0.4%	16.1%	7.3%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.682	0.014	1.568	0.477
	(times Regional Average)				
	Index Score	0.00	0.00	1.57	0.00
	Total Index:	1.57			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1016.02	Tract Percent	15.1%	3.2%	14.0%	13.8%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	1.093	0.123	1.366	0.903
	(times Regional Average)				
	Index Score	1.09	0.00	0.00	0.00
	Total Index:	1.09			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1016.03	Tract Percent	14.7%	8.1%	16.9%	8.5%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	1.068	0.310	1.647	0.558
	(times Regional Average)				
	Index Score	1.07	0.00	1.65	0.00
	Total Index:	2.72			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1017.01	Tract Percent	21.2%	8.6%	9.0%	20.6%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	1.539	0.326	0.877	1.350
	(1) 5 11 14 1				
	(times Regional Average)	4.00	0.00	0.00	
	Index Score	4.62	0.00	0.00	0.00
		4.62	0.00	0.00	
	Index Score	4.62			0.00
Tue et 4047.00	Index Score Total Index:	4.62 Low-Income	African American	Asian	0.00 Hispanic or Latino
Tract 1017.02	Index Score Total Index: Tract Percent	4.62 Low-Income 16.7%	African American 3.7%	Asian 23.8%	0.00 Hispanic or Latino 13.1%
Tract 1017.02	Tract Percent Regional Average	4.62 Low-Income 16.7% 13.8%	African American 3.7% 26.2%	Asian 23.8% 10.3%	0.00 Hispanic or Latino 13.1% 15.2%
Tract 1017.02	Tract Percent Regional Average Ratio of Concentration	4.62 Low-Income 16.7%	African American 3.7%	Asian 23.8%	0.00 Hispanic or Latino 13.1%
Tract 1017.02	Tract Percent Regional Average Ratio of Concentration (times Regional Average)	4.62 Low-Income 16.7% 13.8% 1.212	African American 3.7% 26.2% 0.140	Asian 23.8% 10.3% 2.322	0.00 Hispanic or Latino 13.1% 15.2% 0.860
Tract 1017.02	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	4.62 Low-Income 16.7% 13.8% 1.212	African American 3.7% 26.2%	Asian 23.8% 10.3%	0.00 Hispanic or Latino 13.1% 15.2%
Tract 1017.02	Tract Percent Regional Average Ratio of Concentration (times Regional Average)	4.62 Low-Income 16.7% 13.8% 1.212	African American 3.7% 26.2% 0.140	Asian 23.8% 10.3% 2.322	0.00 Hispanic or Latino 13.1% 15.2% 0.860
Tract 1017.02	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	4.62 Low-Income 16.7% 13.8% 1.212 1.21 3.53	African American 3.7% 26.2% 0.140 0.00	Asian 23.8% 10.3% 2.322 2.32	0.00 Hispanic or Latino 13.1% 15.2% 0.860 0.00
	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	4.62 Low-Income 16.7% 13.8% 1.212 1.21 3.53 Low-Income	African American 3.7% 26.2% 0.140 0.00 African American	Asian 23.8% 10.3% 2.322 2.32	0.00 Hispanic or Latino 13.1% 15.2% 0.860 0.00 Hispanic or Latino
Tract 1017.02 Tract 1017.03	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	4.62 Low-Income 16.7% 13.8% 1.212 1.21 3.53 Low-Income 16.8%	African American 3.7% 26.2% 0.140 0.00 African American 6.8%	Asian 23.8% 10.3% 2.322 2.32 Asian 15.1%	Hispanic or Latino 13.1% 15.2% 0.860 0.00 Hispanic or Latino 1.0%
	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	4.62 Low-Income 16.7% 13.8% 1.212 1.21 3.53 Low-Income 16.8% 13.8%	African American 3.7% 26.2% 0.140 0.00 African American 6.8% 26.2%	Asian 23.8% 10.3% 2.322 2.322 Asian 15.1% 10.3%	0.00 Hispanic or Latino 13.1% 15.2% 0.860 0.00 Hispanic or Latino 1.0% 15.2%
	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	4.62 Low-Income 16.7% 13.8% 1.212 1.21 3.53 Low-Income 16.8%	African American 3.7% 26.2% 0.140 0.00 African American 6.8%	Asian 23.8% 10.3% 2.322 2.32 Asian 15.1%	Hispanic or Latino 13.1% 15.2% 0.860 0.00 Hispanic or Latino 1.0%
	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	4.62 Low-Income 16.7% 13.8% 1.212 1.21 3.53 Low-Income 16.8% 13.8% 1.215	African American 3.7% 26.2% 0.140 0.00 African American 6.8% 26.2% 0.259	Asian 23.8% 10.3% 2.322 2.32 Asian 15.1% 10.3% 1.471	0.00 Hispanic or Latino 13.1% 15.2% 0.860 0.00 Hispanic or Latino 1.0% 15.2% 0.064
	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	4.62 Low-Income 16.7% 13.8% 1.212 1.21 3.53 Low-Income 16.8% 13.8% 1.215	African American 3.7% 26.2% 0.140 0.00 African American 6.8% 26.2%	Asian 23.8% 10.3% 2.322 2.322 Asian 15.1% 10.3%	0.00 Hispanic or Latino 13.1% 15.2% 0.860 0.00 Hispanic or Latino 1.0% 15.2%
	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	4.62 Low-Income 16.7% 13.8% 1.212 1.21 3.53 Low-Income 16.8% 13.8% 1.215	African American 3.7% 26.2% 0.140 0.00 African American 6.8% 26.2% 0.259	Asian 23.8% 10.3% 2.322 2.32 Asian 15.1% 10.3% 1.471	0.00 Hispanic or Latino 13.1% 15.2% 0.860 0.00 Hispanic or Latino 1.0% 15.2% 0.064

		Low-Income	African American	Asian	Hispanic or Latino
Tract 1018.01	Tract Percent	4.2%	2.4%	14.3%	3.8%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.302	0.091	1.394	0.249
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1018.02	Tract Percent	16.5%	3.3%	13.4%	18.3%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	1.196	0.124	1.311	1.201
	(times Regional Average)				
	Index Score	1.20	0.00	0.00	0.00
	Total Index:	1.20			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1018.03	Tract Percent	4.7%	5.3%	9.3%	11.9%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.338	0.203	0.907	0.780
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
			1		
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1019	Tract Percent	5.9%	3.7%	4.1%	7.2%
Tract 1019	Regional Average	5.9% 13.8%	3.7% 26.2%	4.1% 10.3%	7.2% 15.2%
Tract 1019	Regional Average Ratio of Concentration	5.9%	3.7%	4.1%	7.2%
Tract 1019	Regional Average Ratio of Concentration (times Regional Average)	5.9% 13.8% 0.429	3.7% 26.2% 0.140	4.1% 10.3% 0.402	7.2% 15.2% 0.471
Tract 1019	Regional Average Ratio of Concentration (times Regional Average) Index Score	5.9% 13.8% 0.429	3.7% 26.2%	4.1% 10.3%	7.2% 15.2%
Tract 1019	Regional Average Ratio of Concentration (times Regional Average)	5.9% 13.8% 0.429	3.7% 26.2% 0.140	4.1% 10.3% 0.402	7.2% 15.2% 0.471
Tract 1019	Regional Average Ratio of Concentration (times Regional Average) Index Score	5.9% 13.8% 0.429 0.00	3.7% 26.2% 0.140 0.00	4.1% 10.3% 0.402 0.00	7.2% 15.2% 0.471 0.00
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	5.9% 13.8% 0.429 0.00 0.00	3.7% 26.2% 0.140 0.00	4.1% 10.3% 0.402 0.00	7.2% 15.2% 0.471 0.00 Hispanic or Latino
Tract 1019 Tract 1020.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	5.9% 13.8% 0.429 0.00 0.00 Low-Income 23.0%	3.7% 26.2% 0.140 0.00 African American 2.5%	4.1% 10.3% 0.402 0.00 Asian 3.3%	7.2% 15.2% 0.471 0.00 Hispanic or Latino 54.9%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	5.9% 13.8% 0.429 0.00 0.00 Low-Income 23.0% 13.8%	3.7% 26.2% 0.140 0.00 African American 2.5% 26.2%	4.1% 10.3% 0.402 0.00 Asian 3.3% 10.3%	7.2% 15.2% 0.471 0.00 Hispanic or Latino 54.9% 15.2%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	5.9% 13.8% 0.429 0.00 0.00 Low-Income 23.0%	3.7% 26.2% 0.140 0.00 African American 2.5%	4.1% 10.3% 0.402 0.00 Asian 3.3%	7.2% 15.2% 0.471 0.00 Hispanic or Latino 54.9%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	5.9% 13.8% 0.429 0.00 0.00 Low-Income 23.0% 13.8% 1.668	3.7% 26.2% 0.140 0.00 African American 2.5% 26.2% 0.094	4.1% 10.3% 0.402 0.00 Asian 3.3% 10.3% 0.318	7.2% 15.2% 0.471 0.00 Hispanic or Latino 54.9% 15.2% 3.601
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	5.9% 13.8% 0.429 0.00 0.00 Low-Income 23.0% 13.8% 1.668 5.01	3.7% 26.2% 0.140 0.00 African American 2.5% 26.2%	4.1% 10.3% 0.402 0.00 Asian 3.3% 10.3%	7.2% 15.2% 0.471 0.00 Hispanic or Latino 54.9% 15.2%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	5.9% 13.8% 0.429 0.00 0.00 Low-Income 23.0% 13.8% 1.668	3.7% 26.2% 0.140 0.00 African American 2.5% 26.2% 0.094	4.1% 10.3% 0.402 0.00 Asian 3.3% 10.3% 0.318	7.2% 15.2% 0.471 0.00 Hispanic or Latino 54.9% 15.2% 3.601
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	5.9% 13.8% 0.429 0.00 0.00 Low-Income 23.0% 13.8% 1.668 5.01 8.01	3.7% 26.2% 0.140 0.00 African American 2.5% 26.2% 0.094 0.00	4.1% 10.3% 0.402 0.00 Asian 3.3% 10.3% 0.318	7.2% 15.2% 0.471 0.00 Hispanic or Latino 54.9% 15.2% 3.601 3.00
Tract 1020.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	5.9% 13.8% 0.429 0.00 0.00 Low-Income 23.0% 13.8% 1.668 5.01 8.01 Low-Income	3.7% 26.2% 0.140 0.00 African American 2.5% 26.2% 0.094 0.00 African American	4.1% 10.3% 0.402 0.00 Asian 3.3% 10.3% 0.318 0.00	7.2% 15.2% 0.471 0.00 Hispanic or Latino 54.9% 15.2% 3.601 3.00 Hispanic or Latino
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	5.9% 13.8% 0.429 0.00 0.00 Low-Income 23.0% 13.8% 1.668 5.01 8.01 Low-Income 33.1%	3.7% 26.2% 0.140 0.00 African American 2.5% 26.2% 0.094 0.00 African American 8.0%	4.1% 10.3% 0.402 0.00 Asian 3.3% 10.3% 0.318 0.00 Asian 13.6%	7.2% 15.2% 0.471 0.00 Hispanic or Latino 54.9% 15.2% 3.601 3.00 Hispanic or Latino 26.5%
Tract 1020.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	5.9% 13.8% 0.429 0.00 0.00 Low-Income 23.0% 13.8% 1.668 5.01 8.01 Low-Income 33.1% 13.8%	3.7% 26.2% 0.140 0.00 African American 2.5% 26.2% 0.094 0.00 African American 8.0% 26.2%	4.1% 10.3% 0.402 0.00 Asian 3.3% 10.3% 0.318 0.00 Asian 13.6% 10.3%	7.2% 15.2% 0.471 0.00 Hispanic or Latino 54.9% 15.2% 3.601 3.00 Hispanic or Latino 26.5% 15.2%
Tract 1020.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	5.9% 13.8% 0.429 0.00 0.00 Low-Income 23.0% 13.8% 1.668 5.01 8.01 Low-Income 33.1%	3.7% 26.2% 0.140 0.00 African American 2.5% 26.2% 0.094 0.00 African American 8.0%	4.1% 10.3% 0.402 0.00 Asian 3.3% 10.3% 0.318 0.00 Asian 13.6%	7.2% 15.2% 0.471 0.00 Hispanic or Latino 54.9% 15.2% 3.601 3.00 Hispanic or Latino 26.5%
Tract 1020.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	5.9% 13.8% 0.429 0.00 0.00 Low-Income 23.0% 13.8% 1.668 5.01 8.01 Low-Income 33.1% 13.8% 2.400	3.7% 26.2% 0.140 0.00 African American 2.5% 26.2% 0.094 0.00 African American 8.0% 26.2% 0.305	4.1% 10.3% 0.402 0.00 Asian 3.3% 10.3% 0.318 0.00 Asian 13.6% 10.3% 1.329	7.2% 15.2% 0.471 0.00 Hispanic or Latino 54.9% 15.2% 3.601 3.00 Hispanic or Latino 26.5% 15.2% 17.37
Tract 1020.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Ratio of Concentration (times Regional Average) Index Score	5.9% 13.8% 0.429 0.00 0.00 Low-Income 23.0% 13.8% 1.668 5.01 8.01 Low-Income 33.1% 13.8% 2.400 7.20	3.7% 26.2% 0.140 0.00 African American 2.5% 26.2% 0.094 0.00 African American 8.0% 26.2%	4.1% 10.3% 0.402 0.00 Asian 3.3% 10.3% 0.318 0.00 Asian 13.6% 10.3%	7.2% 15.2% 0.471 0.00 Hispanic or Latino 54.9% 15.2% 3.601 3.00 Hispanic or Latino 26.5% 15.2%
Tract 1020.01	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	5.9% 13.8% 0.429 0.00 0.00 Low-Income 23.0% 13.8% 1.668 5.01 8.01 Low-Income 33.1% 13.8% 2.400	3.7% 26.2% 0.140 0.00 African American 2.5% 26.2% 0.094 0.00 African American 8.0% 26.2% 0.305	4.1% 10.3% 0.402 0.00 Asian 3.3% 10.3% 0.318 0.00 Asian 13.6% 10.3% 1.329	7.2% 15.2% 0.471 0.00 Hispanic or Latino 54.9% 15.2% 3.601 3.00 Hispanic or Latino 26.5% 15.2% 1737

		Low-Income	African American	Asian	Hispanic or Latino
Tract 1020.03	Tract Percent	22.8%	12.4%	12.0%	21.3%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	1.653	0.473	1.166	1.396
	(times Regional Average)				
	Index Score	4.95	0.00	0.00	0.00
	Total Index:	4.95			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1021	Tract Percent	15.3%	6.7%	17.2%	17.4%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	1.108	0.255	1.672	1.144
	(times Regional Average)				
	Index Score	1.11	0.00	1.67	0.00
	Total Index:	2.78			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1022	Tract Percent	36.3%	20.8%	7.9%	55.3%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	2.632	0.793	0.767	3.628
	(times Regional Average)				
	Index Score	7.89	0.00	0.00	3.00
	Total Index:	10.89			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1023.01	Tract Percent	4.1%	9.1%	6.9%	15.6%
	Dogional Avorago	13.8%	26.2%	10.3%	1 1 200/ 1
	Regional Average				15.2%
	Ratio of Concentration	0.299	0.346	0.677	1.022
	Ratio of Concentration (times Regional Average)	0.299	0.346	0.677	1.022
	Ratio of Concentration (times Regional Average) Index Score	0.299			
	Ratio of Concentration (times Regional Average)	0.299	0.346	0.677	1.022
	Ratio of Concentration (times Regional Average) Index Score	0.299 0.00 0.00	0.346	0.677	0.00
Tract 4002.00	Ratio of Concentration (times Regional Average) Index Score Total Index:	0.299 0.00 0.00 Low-Income	0.346 0.00 African American	0.677 0.00 Asian	1.022 0.00 Hispanic or Latino
Tract 1023.02	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	0.299 0.00 0.00 Low-Income 24.1%	0.346 0.00 African American 3.2%	0.677 0.00 Asian 6.5%	1.022 0.00 Hispanic or Latino 38.7%
Tract 1023.02	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	0.299 0.00 0.00 Low-Income 24.1% 13.8%	0.346 0.00 African American 3.2% 26.2%	0.677 0.00 Asian 6.5% 10.3%	1.022 0.00 Hispanic or Latino 38.7% 15.2%
Tract 1023.02	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	0.299 0.00 0.00 Low-Income 24.1%	0.346 0.00 African American 3.2%	0.677 0.00 Asian 6.5%	1.022 0.00 Hispanic or Latino 38.7%
Tract 1023.02	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	0.299 0.00 0.00 Low-Income 24.1% 13.8% 1.748	0.346 0.00 African American 3.2% 26.2% 0.121	0.677 0.00 Asian 6.5% 10.3% 0.638	1.022 0.00 Hispanic or Latino 38.7% 15.2% 2.542
Tract 1023.02	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	0.299 0.00 0.00 Low-Income 24.1% 13.8% 1.748 5.25	0.346 0.00 African American 3.2% 26.2%	0.677 0.00 Asian 6.5% 10.3%	1.022 0.00 Hispanic or Latino 38.7% 15.2%
Tract 1023.02	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	0.299 0.00 0.00 Low-Income 24.1% 13.8% 1.748	0.346 0.00 African American 3.2% 26.2% 0.121	0.677 0.00 Asian 6.5% 10.3% 0.638	1.022 0.00 Hispanic or Latino 38.7% 15.2% 2.542
Tract 1023.02	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	0.299 0.00 0.00 Low-Income 24.1% 13.8% 1.748 5.25 7.79	0.346 0.00 African American 3.2% 26.2% 0.121 0.00	0.677 0.00 Asian 6.5% 10.3% 0.638 0.00	1.022 0.00 Hispanic or Latino 38.7% 15.2% 2.542
	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	0.299 0.00 0.00 Low-Income 24.1% 13.8% 1.748 5.25 7.79 Low-Income	0.346 0.00 African American 3.2% 26.2% 0.121 0.00 African American	0.677 0.00 Asian 6.5% 10.3% 0.638 0.00 Asian	1.022 0.00 Hispanic or Latino 38.7% 15.2% 2.542 2.54 Hispanic or Latino
Tract 1023.02 Tract 1024	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	0.299 0.00 0.00 Low-Income 24.1% 13.8% 1.748 5.25 7.79 Low-Income 11.8%	0.346 0.00 African American 3.2% 26.2% 0.121 0.00 African American 10.0%	0.677 0.00 Asian 6.5% 10.3% 0.638 0.00 Asian 5.9%	1.022 0.00 Hispanic or Latino 38.7% 15.2% 2.542 2.54 Hispanic or Latino 12.1%
	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	0.299 0.00 0.00 Low-Income 24.1% 13.8% 1.748 5.25 7.79 Low-Income 11.8% 13.8%	0.346 0.00 African American 3.2% 26.2% 0.121 0.00 African American 10.0% 26.2%	0.677 0.00 Asian 6.5% 10.3% 0.638 0.00 Asian 5.9% 10.3%	1.022 0.00 Hispanic or Latino 38.7% 15.2% 2.542 2.54 Hispanic or Latino 12.1% 15.2%
	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	0.299 0.00 0.00 Low-Income 24.1% 13.8% 1.748 5.25 7.79 Low-Income 11.8%	0.346 0.00 African American 3.2% 26.2% 0.121 0.00 African American 10.0%	0.677 0.00 Asian 6.5% 10.3% 0.638 0.00 Asian 5.9%	1.022 0.00 Hispanic or Latino 38.7% 15.2% 2.542 2.54 Hispanic or Latino 12.1%
	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	0.299 0.00 0.00 Low-Income 24.1% 13.8% 1.748 5.25 7.79 Low-Income 11.8% 13.8% 0.852	0.346 0.00 African American 3.2% 26.2% 0.121 0.00 African American 10.0% 26.2% 0.381	0.677 0.00 Asian 6.5% 10.3% 0.638 0.00 Asian 5.9% 10.3% 0.577	1.022 0.00 Hispanic or Latino 38.7% 15.2% 2.542 2.54 Hispanic or Latino 12.1% 15.2% 0.791
	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	0.299 0.00 0.00 Low-Income 24.1% 13.8% 1.748 5.25 7.79 Low-Income 11.8% 13.8% 0.852 0.00	0.346 0.00 African American 3.2% 26.2% 0.121 0.00 African American 10.0% 26.2%	0.677 0.00 Asian 6.5% 10.3% 0.638 0.00 Asian 5.9% 10.3%	1.022 0.00 Hispanic or Latino 38.7% 15.2% 2.542 2.54 Hispanic or Latino 12.1% 15.2%
	Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	0.299 0.00 0.00 Low-Income 24.1% 13.8% 1.748 5.25 7.79 Low-Income 11.8% 13.8% 0.852	0.346 0.00 African American 3.2% 26.2% 0.121 0.00 African American 10.0% 26.2% 0.381	0.677 0.00 Asian 6.5% 10.3% 0.638 0.00 Asian 5.9% 10.3% 0.577	1.022 0.00 Hispanic or Latino 38.7% 15.2% 2.542 2.54 Hispanic or Latino 12.1% 15.2% 0.791

		Low-Income	African American	Asian	Hispanic or Latino
Tract 1025	Tract Percent	7.9%	16.2%	11.4%	7.7%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.572	0.618	1.113	0.506
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1026	Tract Percent	6.5%	7.1%	13.1%	33.0%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.474	0.272	1.275	2.164
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	2.16
	Total Index:	2.16			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1027.01	Tract Percent	33.8%	23.1%	12.9%	43.4%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	2.447	0.880	1.260	2.849
	(times Regional Average)				
	Index Score	7.35	0.00	0.00	2.85
	Total Index:	10.20			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1027.02	Tract Percent	15.5%	12.6%	7.8%	36.8%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	1.120	0.483	0.763	2.417
	(times Regional Average)	1.12	0.00	0.00	0.40
	Index Score	3.54	0.00	0.00	2.42
	Total Index:	3.54			
		L avv lmaamaa	African American	Anina	llianania au Latina
Tro et 4000 04	Tract Percent	Low-Income	African American 18.6%	Asian 10.6%	Hispanic or Latino 32.7%
Tract 1028.01		23.4%	26.2%		15.2%
	Regional Average Ratio of Concentration	13.8% 1.697	0.710	10.3% 1.031	2.145
	(times Regional Average)	1.097	0.710	1.031	2.145
	Index Score	5.10	0.00	0.00	2.15
	Total Index:	7.25	0.00	0.00	2.10
	Total ilidex.	1.20			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1028.02	Tract Percent	6.1%	4.0%	2.1%	7.0%
11400 1020.02	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.440	0.153	0.203	0.459
	(times Regional Average)	0.440	0.100	0.203	0.739
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00	3.33	2.20	1.00
i .					

		Low-Income	African American	Asian	Hispanic or Latino
Tract 1029.01	Tract Percent	2.9%	3.1%	8.6%	5.0%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.210	0.119	0.834	0.330
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00	'		1
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1029.02	Tract Percent	13.4%	4.9%	4.4%	16.2%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.973	0.189	0.426	1.066
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1030	Tract Percent	5.2%	3.5%	2.4%	10.4%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.378	0.134	0.236	0.680
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1031	Tract Percent	29.3%	39.3%	6.6%	24.0%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	2.123	1.501	0.643	1.572
	(times Regional Average)		. = 0		
	Index Score	6.36	1.50	0.00	1.57
		t		0.00	1.57
	Total Index:	9.43		0.00	1.57
	Total Index:				
T		Low-Income	African American	Asian	Hispanic or Latino
Tract 1032	Tract Percent	Low-Income 20.3%	10.8%	Asian 13.0%	Hispanic or Latino 21.1%
Tract 1032	Tract Percent Regional Average	Low-Income 20.3% 13.8%	10.8% 26.2%	Asian 13.0% 10.3%	Hispanic or Latino 21.1% 15.2%
Tract 1032	Tract Percent Regional Average Ratio of Concentration	Low-Income 20.3%	10.8%	Asian 13.0%	Hispanic or Latino 21.1%
Tract 1032	Tract Percent Regional Average Ratio of Concentration (times Regional Average)	Low-Income 20.3% 13.8% 1.474	10.8% 26.2% 0.411	Asian 13.0% 10.3% 1.266	Hispanic or Latino 21.1% 15.2% 1.386
Tract 1032	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	Low-Income 20.3% 13.8% 1.474	10.8% 26.2%	Asian 13.0% 10.3%	Hispanic or Latino 21.1% 15.2%
Tract 1032	Tract Percent Regional Average Ratio of Concentration (times Regional Average)	Low-Income 20.3% 13.8% 1.474	10.8% 26.2% 0.411	Asian 13.0% 10.3% 1.266	Hispanic or Latino 21.1% 15.2% 1.386
Tract 1032	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	Low-Income 20.3% 13.8% 1.474 1.47	10.8% 26.2% 0.411 0.00	Asian 13.0% 10.3% 1.266	Hispanic or Latino 21.1% 15.2% 1.386
	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	Low-Income 20.3% 13.8% 1.474 1.47 Low-Income	10.8% 26.2% 0.411 0.00	Asian 13.0% 10.3% 1.266 0.00	Hispanic or Latino 21.1% 15.2% 1.386 0.00 Hispanic or Latino
Tract 1032 Tract 1033	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	Low-Income 20.3% 13.8% 1.474 1.47 Low-Income 14.3%	10.8% 26.2% 0.411 0.00 African American 43.5%	Asian 13.0% 10.3% 1.266 0.00 Asian 7.8%	Hispanic or Latino 21.1% 15.2% 1.386 0.00 Hispanic or Latino 5.1%
	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	Low-Income 20.3% 13.8% 1.474 1.47 1.47 Low-Income 14.3% 13.8%	10.8% 26.2% 0.411 0.00 African American 43.5% 26.2%	Asian 13.0% 10.3% 1.266 0.00 Asian 7.8% 10.3%	Hispanic or Latino 21.1% 15.2% 1.386 0.00 Hispanic or Latino 5.1% 15.2%
	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	Low-Income 20.3% 13.8% 1.474 1.47 Low-Income 14.3%	10.8% 26.2% 0.411 0.00 African American 43.5%	Asian 13.0% 10.3% 1.266 0.00 Asian 7.8%	Hispanic or Latino 21.1% 15.2% 1.386 0.00 Hispanic or Latino 5.1%
	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	Low-Income 20.3% 13.8% 1.474 1.47 1.47 Low-Income 14.3% 13.8% 1.036	10.8% 26.2% 0.411 0.00 African American 43.5% 26.2% 1.659	Asian 13.0% 10.3% 1.266 0.00 Asian 7.8% 10.3% 0.765	Hispanic or Latino 21.1% 15.2% 1.386 0.00 Hispanic or Latino 5.1% 15.2% 0.334
	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	Low-Income 20.3% 13.8% 1.474 1.47 1.47 Low-Income 14.3% 13.8% 1.036	10.8% 26.2% 0.411 0.00 African American 43.5% 26.2%	Asian 13.0% 10.3% 1.266 0.00 Asian 7.8% 10.3%	Hispanic or Latino 21.1% 15.2% 1.386 0.00 Hispanic or Latino 5.1% 15.2%
	Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	Low-Income 20.3% 13.8% 1.474 1.47 1.47 Low-Income 14.3% 13.8% 1.036	10.8% 26.2% 0.411 0.00 African American 43.5% 26.2% 1.659	Asian 13.0% 10.3% 1.266 0.00 Asian 7.8% 10.3% 0.765	Hispanic or Latino 21.1% 15.2% 1.386 0.00 Hispanic or Latino 5.1% 15.2% 0.334

		Low-Income	African American	Asian	Hispanic or Latino
Tract 1034.01	Tract Percent	23.2%	9.5%	5.4%	14.1%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	1.681	0.364	0.522	0.926
	(times Regional Average)				
	Index Score	5.04	0.00	0.00	0.00
	Total Index:	5.04			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1034.02	Tract Percent	10.6%	8.4%	21.0%	3.2%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.768	0.322	2.046	0.213
	(times Regional Average)				
	Index Score	0.00	0.00	2.05	0.00
	Total Index:	2.05			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1035.01	Tract Percent	16.1%	3.6%	24.6%	7.1%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	1.166	0.136	2.399	0.464
	(times Regional Average)				
	Index Score	1.17	0.00	2.40	0.00
	Total Index:	3.57			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1035.02	Tract Percent	18.2%	14.7%	12.6%	11.7%
Tract 1035.02	Regional Average	18.2% 13.8%	14.7% 26.2%	12.6% 10.3%	11.7% 15.2%
Tract 1035.02	Regional Average Ratio of Concentration	18.2%	14.7%	12.6%	11.7%
Tract 1035.02	Regional Average Ratio of Concentration (times Regional Average)	18.2% 13.8% 1.322	14.7% 26.2% 0.562	12.6% 10.3% 1.226	11.7% 15.2% 0.769
Tract 1035.02	Regional Average Ratio of Concentration (times Regional Average) Index Score	18.2% 13.8% 1.322 1.32	14.7% 26.2%	12.6% 10.3%	11.7% 15.2%
Tract 1035.02	Regional Average Ratio of Concentration (times Regional Average)	18.2% 13.8% 1.322	14.7% 26.2% 0.562	12.6% 10.3% 1.226	11.7% 15.2% 0.769
Tract 1035.02	Regional Average Ratio of Concentration (times Regional Average) Index Score	18.2% 13.8% 1.322 1.32	14.7% 26.2% 0.562 0.00	12.6% 10.3% 1.226 0.00	11.7% 15.2% 0.769
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	18.2% 13.8% 1.322 1.32 1.32 Low-Income	14.7% 26.2% 0.562 0.00	12.6% 10.3% 1.226 0.00	11.7% 15.2% 0.769 0.00 Hispanic or Latino
Tract 1035.02 Tract 1035.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	18.2% 13.8% 1.322 1.32 1.32 Low-Income 4.0%	14.7% 26.2% 0.562 0.00 African American 13.1%	12.6% 10.3% 1.226 0.00 Asian 13.2%	11.7% 15.2% 0.769 0.00 Hispanic or Latino 8.7%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	18.2% 13.8% 1.322 1.32 1.32 Low-Income 4.0% 13.8%	14.7% 26.2% 0.562 0.00 African American 13.1% 26.2%	12.6% 10.3% 1.226 0.00 Asian 13.2% 10.3%	11.7% 15.2% 0.769 0.00 Hispanic or Latino 8.7% 15.2%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	18.2% 13.8% 1.322 1.32 1.32 Low-Income 4.0%	14.7% 26.2% 0.562 0.00 African American 13.1%	12.6% 10.3% 1.226 0.00 Asian 13.2%	11.7% 15.2% 0.769 0.00 Hispanic or Latino 8.7%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	18.2% 13.8% 1.322 1.32 1.32 Low-Income 4.0% 13.8% 0.289	14.7% 26.2% 0.562 0.00 African American 13.1% 26.2% 0.501	12.6% 10.3% 1.226 0.00 Asian 13.2% 10.3% 1.291	11.7% 15.2% 0.769 0.00 Hispanic or Latino 8.7% 15.2% 0.570
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	18.2% 13.8% 1.322 1.32 1.32 Low-Income 4.0% 13.8% 0.289	14.7% 26.2% 0.562 0.00 African American 13.1% 26.2%	12.6% 10.3% 1.226 0.00 Asian 13.2% 10.3%	11.7% 15.2% 0.769 0.00 Hispanic or Latino 8.7% 15.2%
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average)	18.2% 13.8% 1.322 1.32 1.32 Low-Income 4.0% 13.8% 0.289	14.7% 26.2% 0.562 0.00 African American 13.1% 26.2% 0.501	12.6% 10.3% 1.226 0.00 Asian 13.2% 10.3% 1.291	11.7% 15.2% 0.769 0.00 Hispanic or Latino 8.7% 15.2% 0.570
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score	18.2% 13.8% 1.322 1.32 1.32 Low-Income 4.0% 13.8% 0.289 0.00	14.7% 26.2% 0.562 0.00 African American 13.1% 26.2% 0.501 0.00	12.6% 10.3% 1.226 0.00 Asian 13.2% 10.3% 1.291	11.7% 15.2% 0.769 0.00 Hispanic or Latino 8.7% 15.2% 0.570
Tract 1035.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index:	18.2% 13.8% 1.322 1.32 1.32 Low-Income 4.0% 13.8% 0.289 0.00 0.00 Low-Income	14.7% 26.2% 0.562 0.00 African American 13.1% 26.2% 0.501 0.00 African American	12.6% 10.3% 1.226 0.00 Asian 13.2% 10.3% 1.291 0.00	11.7% 15.2% 0.769 0.00 Hispanic or Latino 8.7% 15.2% 0.570 0.00 Hispanic or Latino
	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent	18.2% 13.8% 1.322 1.32 1.32 Low-Income 4.0% 13.8% 0.289 0.00 0.00 Low-Income 6.7%	14.7% 26.2% 0.562 0.00 African American 13.1% 26.2% 0.501 0.00 African American 0.0%	12.6% 10.3% 1.226 0.00 Asian 13.2% 10.3% 1.291 0.00 Asian 5.2%	11.7% 15.2% 0.769 0.00 Hispanic or Latino 8.7% 15.2% 0.570 0.00 Hispanic or Latino 6.1%
Tract 1035.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average	18.2% 13.8% 1.322 1.32 1.32 Low-Income 4.0% 13.8% 0.289 0.00 Low-Income 6.7% 13.8%	14.7% 26.2% 0.562 0.00 African American 13.1% 26.2% 0.501 0.00 African American 0.0% 26.2%	12.6% 10.3% 1.226 0.00 Asian 13.2% 10.3% 1.291 0.00 Asian 5.2% 10.3%	11.7% 15.2% 0.769 0.00 Hispanic or Latino 8.7% 15.2% 0.570 0.00 Hispanic or Latino 6.1% 15.2%
Tract 1035.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration	18.2% 13.8% 1.322 1.32 1.32 Low-Income 4.0% 13.8% 0.289 0.00 0.00 Low-Income 6.7%	14.7% 26.2% 0.562 0.00 African American 13.1% 26.2% 0.501 0.00 African American 0.0%	12.6% 10.3% 1.226 0.00 Asian 13.2% 10.3% 1.291 0.00 Asian 5.2%	11.7% 15.2% 0.769 0.00 Hispanic or Latino 8.7% 15.2% 0.570 0.00 Hispanic or Latino 6.1%
Tract 1035.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	18.2% 13.8% 1.322 1.32 1.32 Low-Income 4.0% 13.8% 0.289 0.00 0.00 Low-Income 6.7% 13.8% 0.482	14.7% 26.2% 0.562 0.00 African American 13.1% 26.2% 0.501 0.00 African American 0.0% 26.2% 0.000	12.6% 10.3% 1.226 0.00 Asian 13.2% 10.3% 1.291 0.00 Asian 5.2% 10.3% 0.502	11.7% 15.2% 0.769 0.00 Hispanic or Latino 8.7% 15.2% 0.570 0.00 Hispanic or Latino 6.1% 15.2% 0.397
Tract 1035.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Ratio of Concentration (times Regional Average) Index Score	18.2% 13.8% 1.322 1.32 1.32 Low-Income 4.0% 13.8% 0.289 0.00 0.00 Low-Income 6.7% 13.8% 0.482 0.00	14.7% 26.2% 0.562 0.00 African American 13.1% 26.2% 0.501 0.00 African American 0.0% 26.2%	12.6% 10.3% 1.226 0.00 Asian 13.2% 10.3% 1.291 0.00 Asian 5.2% 10.3%	11.7% 15.2% 0.769 0.00 Hispanic or Latino 8.7% 15.2% 0.570 0.00 Hispanic or Latino 6.1% 15.2%
Tract 1035.03	Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Index Score Total Index: Tract Percent Regional Average Ratio of Concentration (times Regional Average) Regional Average Ratio of Concentration (times Regional Average)	18.2% 13.8% 1.322 1.32 1.32 Low-Income 4.0% 13.8% 0.289 0.00 0.00 Low-Income 6.7% 13.8% 0.482	14.7% 26.2% 0.562 0.00 African American 13.1% 26.2% 0.501 0.00 African American 0.0% 26.2% 0.000	12.6% 10.3% 1.226 0.00 Asian 13.2% 10.3% 1.291 0.00 Asian 5.2% 10.3% 0.502	11.7% 15.2% 0.769 0.00 Hispanic or Latino 8.7% 15.2% 0.570 0.00 Hispanic or Latino 6.1% 15.2% 0.397

		Low Income	African American	Agian	Highania ar Latina
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1036.02	Tract Percent	14.4%	2.5%	23.8%	4.8%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	1.044	0.095	2.325	0.312
	(times Regional Average)				
	Index Score	1.04	0.00	2.33	0.00
	Total Index:	3.37			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1037	Tract Percent	3.7%	1.3%	3.1%	10.8%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	0.266	0.048	0.305	0.708
	(times Regional Average)				
	Index Score	0.00	0.00	0.00	0.00
	Total Index:	0.00			
		Low-Income	African American	Asian	Hispanic or Latino
Tract 1038	Tract Percent	15.8%	18.8%	8.0%	12.9%
	Regional Average	13.8%	26.2%	10.3%	15.2%
	Ratio of Concentration	1.145	0.716	0.776	0.848
	(times Regional Average)				
	Index Score	1.15	0.00	0.00	0.00
	Total Index:	1.15			

2/8/2017 Draft Page **10** of **10**